Solohons Qoiz 6 “p m

L Vot QurAdyg 4z =4 Pri-Fy+22 =-0

angle between Yand Pz s due angle between tieio
normal  vectors W and ng .
Ny LA AT Ay= 2.0, % 2

0= COD"( N4 Ny }zcog\(zq,q,m-ww?,m » _
1] e {Tetie+16 Yo +99+4"

-\ -237% -\ -20 - >
= (OD — = (0D '—\>=(OD [ —-=20
EBYEE 4353 45T

-\ - 5
= (0D (———-——'
l/S(f

g

x(‘/\l%ﬂ = —-—)-—-"""‘

\l[_‘_xz,g’z
Since dividion 5(0/1 2€ro and Squa e Yoc))'lo"f) a Vl—é‘gah'u.e, Que
a)nd(@(ned, Ylun  Yue domain of £ consiots o oe/dpwﬂ/‘b
(X/g) wo WMeuwe L—val—gz is non-2co and ﬂOI’f—VLeya/’)LLe/
N ()'lLk(/ w()/o{s ajlpoi/l% 'Cx,gz) wle e M’Kl-gz J0 , whic

[y 4t >ante o > “-/)XL'fg?.
Domarin (f) = {[x,g) " XL—H(;Z'Z 4/_/;

rpomh PN Yl t?\umc whicth ave nside Yl eivele centened ot
MO/C(:)&V\ witn radiv> 2 ]
Suingy  g= L e gpe™ Lhzl‘_z—, x2+4 % wnich mgwes sence A% Y,

/

_TWwewedore dve vange of £ I : 2%‘.‘/?_

37 Q\K\ (UL 1 = | A n e Leoe\ (wvoe £049) =4

- V4-x2-y 2 \ is o avcle centered at -
equuadent to: JA-xt-4t = A TUe  ongin and radivs 3

G4-%Z-4% = A
3 =x%xy

z J




